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(J16B) Xik (Kaniji)
1108 2 1
1129 =3 1
1137] RS 3
1171 3 4
1183 1R2 1
1222 4 3
1238 3 3
1258| {4 1
1269 2
1271 R4 4
1274 2 1
1275 {R2 1
1278 4
1280 2 3
1284 13 1
1285 4
1289 1R2 2
1291 &3 1
1292 5 4
1296 1
1300 5 4
1301 2 3
1303 4
1304 {5 4
1305 5
1306 15 4
1312] 15 4
1315 4 5
1327 2 1
1329 2
1331 &5
1332 5
1335 4
1342 2 3
1347 R4 3
1348 R4 4
1350 1®3 3
1351 13 3
1352 5
1355 1®3 4
1356 2 3
1358 3
1363 4 3
1366 4
1367 3 4
1368 3 4
1370| R4 4
1373 3
1375 4
1379] 15 4
1382] 1®3 3

&= g | EF

(J16B) Xik (Kaniji)
1385 2
1386 5 3
1394 {m2 2
1398 1
1403 5 4
1406 2 1
1410 2 3
1413 5 4
1415|  {R2 2
1416 4 5
1419 4
1424 5 4
1426 1®3 4
1427 3 4
1430 1®6 3
1432  {R4 4
1439 2
1442 3
1444 2
1446 4
1449 &5 3
1452 4 5
1453 4
1455 2 3
1457 5 3
1459 {®3 2
1460 5
1461  {R2 1
1464 3
1465| R4 4
1466 2
1467 4 2
1468 &3 1
1473|  {®5 3
1475 5 2
1480 {®5 5
1484 4 1
1486 3 4
1491 2 1
1492 5
1493| 1®3 3
1494 2 1
1495 2 1
1496 {R2 3
1498 2 3
1500| R4 2
1523 4
1540 2 3
1547| 1®6 4
1559 4

You MAY (but don't have to) take Kaniji classes ONE level
higher than the one stated on your certificate (e.g. K2, K3)
under the following TWO conditions:

1. You find Kanji classes you enroll in right now to be
too easy.
2. Your level of proficiency in Kanji is LOWER than the
one in Grammar.

For example, if you have a certificate that says your level
of proficiency is "4 (K2)”, you may take K3 (but not K4)

class.
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